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L (1). EEAETRISEEE (robustness)F 3R 7 (4 47)
(2). BT ERZ N ? (4 5)
A F
B. t
c oy
D none of above

2. A least square regression line (4 43)
A. may be used to predict a value of y if the corresponding x value is given
B. implies a cause-effect relationship between x and y
C. can only be determined if a good linear relationship exists between x and y
D

. all of the above answers is correct.

3. Autocorrelation in a regression forecasting model may be overcome by . (4 43)
A. transforming the independent variable
B. using the F test, instead of the t test
C. increasing the sample size -
D

increasing the level of significance for the F test

4. One hundred policyholders file claims with CareFree Insurance. Ten of these claims are fraudulent.
Claims manager Earl Evans randomly selects four of the ten claims for thorough investigation. 1f
X represents the number of fraudulent claims in Earl's sample, X has a (49
A. normal distribution
B. hypergeometric distribution, but may be approximated by a binomial
C. binomial distribution, but may be approximated by a normal
D

binomial distribution, but may be approximated by a Poisson

5. A bank officer wishes to estimate the amount of the average total deposits per customer at the bank.
She wishes the estimale to be within $250 of the actual average with 95% confidence. She assumes
the standard deviation for this should be $1000. How large should the sample be? (4 43)
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